3-Digit Minus 2-Digit Subtraction (A)

Name:

104 — 63 =
547 — 12 =
829 — 33 =
257 —29 =
277 —35 =
385—70 =
954 — 60 =
498 — 77 =
404 — 63 =
696 — 93 =
557 —-29 =
954 — 61 =

570 — 32 =

Date:

Calculate each difference.

793 =27 =
212 — 50 =
263 — 76 =
395 — 36 =
689 — 89 =
516 — 86 =
418 — 90 =
412 — 62 =
569 — 85 =
620 — 21 =
771 —19 =

986 — 45 =

Score:
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3-Digit Minus 2-Digit Subtraction (A) Answers

Name: Date: Score:

Calculate each difference.

104 —63 = 41 793 =27 = 766
547 — 12 = 535 212 —-50 = 162
829 —33 = 796 263 —76 = 187
257 —29 = 228 395 —-36 = 359
277 —35= 242 689 — 89 = 600
385 =70 = 315 516 — 86 = 430
954 — 60 = 894 418 — 90 = 328
498 — 77 = 421 412 — 62 = 350
404 — 63 = 341 569 — 85 = 484
696 — 93 = 603 620 — 21 = 599
557 —29 = 528 771 —19 = 752
954 — 61 = 893 986 —45 = 941
570 — 32 = 538
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